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ExANYX L RESPN =g AU g Al Bx3 R 1XFEHE R A) 2KH(Of| £k M) XK
g 24 254 1,231,041 814,251 416,790 814,251 814,251 814,251
Rl = A 2 48,225 36,648 11,577 36,648 36,648 36,648
FUHETD (0T S5 ZE2EY 4714 dE2Y EAY DA EA YRR 300,000,000 %14 33,521 23,464 10,057 23,464 23,464 23,464
FoAEL [N 55 42 13702 HEZE2Y 22X DIZIRHEAIY 2= 100,000,0008/*14] 14,704 13,184 1,520 13,184 13,184 13,184
st 2| A 4 303,731 287,042 16,689 287,042 287,042 287,042
stazela [HEg A 2 49 OFYEE msHoEAlM HX| XA DZXEAMNLER (20,1198 A*14]*60% 20,119 10,812 9,307 10,812 10,812 10,812
stApe|n (=3 4" 9 179 HI7|Atsit EEAY DA EA YRR HMI|Xt=A 180 T UH| Y& X H(ESE 10, &= 8) 274,430 274,430 - 274,430 274,430 274,430
staeld ([=2HH oA 9 7Y HEE KM= Bde X XA DA EA YRR ddt 743 100 Y*87H 8,182 800 7,382 800 800 800
staell (2HH &2 LPG 1& 2t=At AIXF F0f X[ 2IAHY SEAPN SoWN )RS 1,000 &1+ CH 1,000 1,000 - 1,000 1,000 1,000
SEI A 7 116,700 63,850 52,850 63,850 63,850 63,850
sdat oHS 2hH Ao oA SR A (2o EE) DIZERFEALAEZ  [0.1278 2*8,000m™*50% 960 480 480 480 480 480
sdat X2H g% 2 9 oA SR HALH (OIS H EH| E) QZIXEAIG 2= 1,2008 &I*272*50% 32,400 16,200 16,200 16,200 16,200 16,200
sEI | FEE EX ﬁ%% TEABTIS TSRS DX EAI YRR 5,000 &*1-5*50% 5,000 2,500 2,500 2,500 2,500 2,500
=31t a4¥H A= 9 1Y Al O A CHLFX| 2 (LY RH S & 52 2) LREAIHER  [2,5008 &*1,650m™*60% 41,250 24,750 16,500 24,750 24,750 24,750
S8 (Z2EE o igﬁg(gg)gunggtm HEA DIZIREAMGEE 0.8 &*4,000m*50% 3,200 1,600 1,600 1,600 1,600 1,600
2
S™8I |=YHE AE S0l X|0| 823t QZIXEAIR 2= 1158 24*2500m™*55% 27,500 15,125 12,375 15,125 15,125 15,125
&t oS A+ 2 399 At BESL ety AHH|OF X NVRHEAIY B = 300 24*21.3ha*50% 6,390 3,195 3,195 3,195 3,195 3,195
AR =X| T 3 495,400 247,700 247,700 247,700 247,700 247,700
AEl=X [(B2H A 9 379 LLEASE X AALY DIZERFEALAEZ  [400,0008 &*141%50% 400,000 200,000 200,000 200,000 200,000 200,000
AEEX L (22X e 2 6 LLMERS IR GAY LRLEAIHEZR 40,4008 21*141*50% 40,400 20,200 20,200 20,200 20,200 20,200
ARl=X| 0 (=R M 9 779 A oh= B X[ AL (= H]) DA EA Y ER 55,0008 &*141*50% 55,000 27,500 27,500 27,500 27,500 27,500
SR | 8 172,990 94,415 78,575 94,415 94,415 94,415
=4ar | BYH oAy 9 2Y ot A SN EA XA NZAMMAER |90 A*865+100% 7,740 7,740 - 7,740 7,740 7,740
M | SYH xR Li=5 O MFH| X|HAY EEX@“E)EEMUH 10,000 &1*1CH*60% 10,000 6,000 4,000 6,000 6,000 6,000
HM |22 R E[H| m BT | K| 2 ALY QZIXEAIR 2R 5,000 &*1CH*50% 5,000 2,500 2,500 2,500 2,500 2,500
=4ar | BYH o 9 5 E[H| & ZI|X| 2ALY QZIXEAIR 2= 15,800 ®1*6CH*50% 79,000 39,500 39,500 39,500 39,500 39,500
Akt a4¥H ol*= 2 29 TAXpA 2 4= 7| K| RIALY QZIXEAIR 2 12,000 &1*3CH*50% 36,000 18,000 18,000 18,000 18,000 18,000




H XA LR PN =g AU 8 A LES=) XpELE 1XHEHE M) 2KH(Of| AHELA) 3xHRI2])
Fi |83 o2 h:j; )?’i A RSP L PN R P S; DIZIXEAIEEZE 10,0008 2*1CH*70% 10,000 7,000 3,000 7,000 7,000 7,000
M |0EE 2 2 14F TR WAMHE XASFA7| X AALY DIZIRFEAIREZE 3508 *1500*70% 5,250 3,675 1,575 3,675 3,675 3,675
Ma |oqEE drE 2 39 SUE7 25AE XA DIZERHEALYEZ  |5,0008 &1*4LH*50% 20,000 10,000 10,000 10,000 10,000 10,000
Az 44 1 93,995 84,596 9,399 84,596 84,596 84,596
Falnl AELHME AFLICHE O+ 2023 SEFEE] X @AY DIZIRHEALRE X (93,9958 #1*141*90% 93,995 84,596 9,399 84,596 84,596 84,596




